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AMH: feI:
4x— 5x° + 7% + 2(5x3 - 3x2) 6x° — 2x% — 3(4x3 — 4x2) + 4x
2+ 4y — 6 — T + 27 3(2x — 6x) — 6x° — 9x° — x°
8x— x> — Tx — 2(4)(3 + 7x) o — 5x+x° — 5%+ x°
8x% — 5x° — 2(9x° + 9x) + x° 4(8x% + 5x°) — 2x— 2x — 8x
Sx° — Tx— Tx — 8x* — 9x 4(5)63 — 7x2) + 8¢ +x* —3x
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At - ﬁ_"ﬂa; w;

4 — 57 + 70 + 2(5%° — 3x%) 62 — 202 — 3(4x® — 4x?) + dx
17x° — 112 +4x —12x° + 16:% + 4x

2(x+4x°) — 657 — Tx + 2x°
8> — 112 + 2x

8x — x> — Tx — 2(4x° + Tx)
—Ox — 13x

8% — 5% — 2(9x° + 9x) + x°
225 + 8¢ — 18x

5% — Tx— Tx— 8% — 9x
—3x% — 23x

3(2x — 6x) — 6x° — 9 — X2
—60° — 1002 — 12x

9x3—5x+x2—5x2+x3
100> — 4% — 5x

487 + 5%°) — 2x — 2x — 8
2002 + 3204 — 12x

4(5x° — 7x%) + 885 + X2 — 3x
28x° — 275 — 3x
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